VKC11-6600-YPO-AC

Muncie’ i
Power oD At
Products wc

INSTALL ATIONNOIES

1. Discomnect the battery cables. Install pump bracket next to the AIC conpressor with bolts (2) at location
A and bolt (3) a location B. Tighten all bolts lightly, then torque themto 35ft. Ibs

2. It may be necessary to reroute the engine wires out of the way of the punp. An Adel dampis included
inthekit to hold the large wiring hamess a the badk of the bracket. Install the pump onto the bradket
with bolts provided. Install both idlers onto the bracket with hardware provided. The idler to the inside
should go intto the top hole of the two hole locations

3. Ingall the newbelt according to the belt routing below:. If the upper radiator hose is too close to the
clutch, 2” canbe cut fromthe hose at the radiator. Because there is no drain on the cooling system it is

easiest o usea siphon hose at the reservoir. With the reservoir empty, the coolant level will be below
the upper radiator hose.

4. Recomect the batteries. Run the engine and check for proper belt tracking

5. Mike certainno wires or hoses come n contact with any hot or moving parts

Clutch Pump

Alternator

dler Idiler

Power Steering

Water Pump 4/12


BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text

BSmith
Typewritten Text
4/12


CMKC11-6600-YP6-AC

2011-CURRENT, CHEVY,GM C 2500-3500 HD

6.6, V-8 Duram ax Diesel
W/0O Dual Alternator
W-AC

ITEM NO.

DESCRIPTION

QTY.

—_

HEX FLANGE BOLT, M10 x 1.5 x 40

O

HEX FLANGE BOLT, M10 x 1.5 x 80

89007 IDLER

CMB 3867

ADEL CLAMP

Regular LW 3/8"

HEX BOLT 3/8"-16

HEX FLANGE BOLT, M8 x 1.25

HEX NUT 3/8"

COIL AND CLUTCH (SOLD SEPARATELY)

HYD CLUTCH PUMP (SOLD SEPARATELY)

SIZI S ol @ |[N|oo|sw| N

CMK 260-16

4/12


BSmith
Typewritten Text
4/12

BSmith
Typewritten Text




